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3DGD� HUD� \DQJ� VHUED� WHNQRORJL� VDDW� LQL�� KDPSLU� VHOXUXK� NDODQJDQ� PDV\DUDNDW�
PHPLOLNL�NHEXWXKDQ�NRPXQLNDVL�XQWXN�PHQXQMDQJ�NHKLGXSDQQ\D��.HEXWXKDQ�DNDQ�
NRPXQLNDVL� YLUWXDO� \DQJ� WLGDN� WHUEDWDV�PHQMDGLNDQ� SHPDQIDDWDQ� \DQJ�PDNVLPDO�
DWDV� SURGXN�SURGXN� \DQJ� GLWDZDUNDQ� EDLN� SHUXVDKDDQ� WHOHNRPXQLNDVL�� PHGLD��
PDXSXQ� WHNQRORJL� LQIRUPDVL��6HKLQJJD SHUXVDKDDQ�SHUXVDKDDQ�GLKDUDSNDQ�XQWXN�
OHELK� JHVLW� GDODP� EHULQRYDVL� VHKLQJJD� GDSDW� PHQLQJNDWNDQ� ODED� ODJL� GHQJDQ�
EHURULHQWDVL� SDGD� NHEXWXKDQ� PDV\DUDNDW� ]DPDQ� VHNDUDQJ� 'DODP� PHODNXNDQ�
DNWLYLWDV� RSHUDVLRQDOQ\D� SHUXVDKDDQ� WLGDN� OHSDV� GHQJDQ� SHQJJXQDDQ� NDV� GDQ�
SHQMXDODQ�VHFDUD�NUHGLW�\DQJ�PHQLPEXONDQ�SLXWDQJ�

3HQJXPSXODQ� GDWD� GLODNXNDQ� GHQJDQ� WHNQLN� GRNXPHQWDVL GDQ� MHQLV� GDWD� \DQJ�
GLJXQDNDQ� \DLWX� GDWD� VHNXQGHU� \DQJ� GLSHUROHK� PHODOXL� ZHVEVLWH� 6	3� &DSLWDO�
EHUGDVDUNDQ�GDWD�GDUL�%XUVD�(IHN�,QGRQHVLD��%(,��GHQJDQ� MXPODK�VDPSHO���������
3HUXVDKDDQ�GDODP�SHULRGH���WDKXQ���6HWHODK�GLODNXNDQ�SHQJXMLDQ�XML�DVXPVL�NODVLN�
GDQ�XML�KLSRWHVLV��SHQHOLWL�PHQJDQDOLVLV�EDKZD�3HUSXWDUDQ�.DV�EHUSHQJDUXK�SRVLWLI�
GDQ�VLJQLILNDQ�WHUKDGDS�SURILWDELOLWDV�GDQ�3HUSXWDUDQ�3LXWDQJ�EHUSHQJDUXK�QHJDWLI�
GDQ�VLJQLILNDQ�WHUKDGDS�SURILWDELOLWDV�
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